Math 112  2/25/05
Worksheet – Economics Problems

Zoe’s bakery specializes in birthday cakes.  If Zoe’s fixed costs are 50 dollars per day, and if her cost for ingredients etc. is five dollars per cake, then the associated cost function is 
C(x) = ________________ (fill in the blank) at a production level of x cakes per day.

(a)  Find the average cost function:  
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(b)  Find the marginal cost function:  
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Suppose that Zoe can sell x cakes per day at a price of (100-x)/5 dollars per cake (where  
0 < x < 100).  That is, the demand function is p(x) = (100-x)/5 dollars per cake.

(c)  Find the revenue function:  R(x) =                                               (units = ________________ )

(d)  Find the profit function:  P(x) =                                                  (units = ________________ )

(e)  The graph below shows the cost function and the revenue function.  Identify which is which.  Draw the tangent lines to each function at x = 10 and x = 45.
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(f)  Based on the tangent slopes, when x = 10, which is growing faster – revenue, or cost?  

      Do you conclude that Zoe should produce more than 10 cakes per day, or fewer?

(g)  Based on the tangent slopes, when x = 45, which is growing faster – revenue, or cost? 

      Do you conclude that Zoe should produce more than 45 cakes per day, or fewer? 

(h)  Based on algebra, for which production levels is profit = zero?  _________________

(i)  Based on calculus, for which production level is profit maximized? ______________

      In order to sell this many cakes per day, what price should Zoe charge per cake? ______
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